ASSEMBLING INSTRUCTION : RUGBY

MHCTPYKUNA 3A MOHTAX : RUGBY

BHocuten: “Butten” EOO[ Importer: BITTELLTD
rp. Mnoeaue, Tpakus Plovdiv, Trakia Ind. zone,
yn. “Hectop Abapxmnes” 13 13 Nestor Abadjiev str.
BYNCTAT: 115163890 ID:115163890

Ten: +359 32 27 00 27 Tel: +359 32 27 00 27
www.bittel.bg www.bittel.bg

A - Castor A - Konenua

B - Base B - 3Besna

C - Gas lift C - AmopTucbop

D - Ring D - Punr

E - Gas lift cover E - MaHLOoH 3a amopTMCLOp

F - Back shell F - Kopa 3a obneranka

F1 - Back F1 - Obneranka

G - Seat G - Cepanka

H - Armrests H/H1 - MoanakbTHMUM

| - Armrests elements
J - Screw M5x12
K - Screw M6x30

K1 - Screw M6x40
L - Headrest

| - EnemeHT 3a noanakbTHALM
J - bont M5x12
K - bont M6x30

K1 - bont M6x40
L - MoarnaBHuK

1 - WecTorpam

2 - OTBepTKa

16p.| [16p.

‘1 KOMI'IJ'I.‘ ‘1 KOMI'IJ'I.‘ ‘4 op. ‘ ‘6 6p ‘

MakcumanHo HaTtoBapBaHe: 120 Kr.




	Page 1

